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Enrollment No: Exam Seat No:

C.U.SHAH UNIVERSITY
Winter Examination-2015

Subject Name: Digital Electronics

Subject Code: 2TEO3DEL1 Branch: Diploma(CE)

Semester: 3 Date: 03/12/2015 Time: 2:30 To 5:30 Marks: 70
Instructions:
(1) Use of Programmable calculator & any other electronic instrument is prohibited.
(2) Instructions written on main answer book are strictly to be obeyed.
(3) Draw neat diagrams and figures (if necessary) at right places.
(4) Assume suitable data if needed.

Attempt the following questions: (14)
a) Collection of 8 bit is called .
a) Word b)nibble c)byte d)bus
b) 1011 + 0001 = :
a) 1100 b)1101 c)1111 d)1110
C) (1010)2 = ( ) 10.
a) 15 b) 11 c) 18 d) 10
d) 2’s complement of (10110); is .
a)10111 b) 111000 c) 10110 d) 0101
e) 111*10= :
a) 0110 b)1001 c)1110 d)1111
f)  (103)s = ( ) 10-
a) 10 b) 20 c)19 d)25.
g) (110101)s=( )2
a) 65 b) 72 c)62 d)75
h) What is full form of ASCII?
a) American Standard Code for Information Interchanged
b) American Standard Code for Internal Information
¢) All Standard Code for Information Interchanged.
d) Australian Standard Code for internal information.
I) (9AFC)16 :( )2
a) 1111110010111111
b) 11111101 1101 1011
c) 1001 101011111100
d) 1001 110111111101
J) (1100); = ( )gray code
a) 1101 b) 1111 c¢)1011 d) 1010

Pagel || 4



k) What is full form of RAM?
a) Random Access memory
b) Read all memory
c) Read access memory
d) Random all memory
) (42)10 = ( )16
a) AB b)2A c)72 d) 2B
m) What is full form of BCD?
a) Binary Coded Diagram
b) Binary Coded Decimal
c) Binary Coded Data
d) Binary Call Data
n) 11000 /1000 =
a) 10 b) 01 c)11 d)00

Attempt any four questions from Q-2 to Q-8

Q-2

Q-8

A)
B)
C)

A)
B)

A)
B)

A)
B)
C)

A)
B)

A)
B)

A)
B)
C)

Attempt all questions

Explain de Morgan’s law.

Explain half adder.

Explain positive and negative logic.
Attempt all questions

Explain J-K flip flop.

Explain basic logic gates.

Attempt all questions

Explain NOR as universal gate.

Explain 3 to 8 decoder.

Attempt all questions

Prove AB + A’B + A’B’=B+A’

Find SOP form for expression f( A,B, C) = AB + A’B’+AC+A’C’
Explain D flip-flop.

Attempt all questions

Explain 1 to 8 demultiplexer.

Find Equation for f (A,B,C) =} (2,4,5) using K map.
Attempt all questions

Explain R-2R ladder D/A converter.
Explain serial in parallel out shift register.
Attempt all questions

Explain ROM with its type.

Explain specification of A/D converter.
Explain ring counter.
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Q-1

y)

olA Usl €25 UL oll scllol AW

8 (02 oll uYs A s&cll,
a)d§  b)Reod c)wuse d) Ul
1011 + 0001 =

b) 1100 b)1101 c¢)1111 d)1110
(1010)2 = ( )10_
a)15 b)11 c¢)18  d) 10
(10110), of 2’4 sl@de UL
2)10111 b) 111000 c) 10110 d) 01010
111*10 = .
b) 0110 b)1001 ¢)1110 d)1111

(103)s = (___) 10
210 b)20 ¢)19  d)25.

(110101)g = ( )2
b) 65 b)72 )62 d)75

URS| of Y3 ol W?
a) UARSsel @5 815 52 BogHalet H2AS
b) WARSel wIesE 5lS H12 Beold BosHalet
c) WA ReS§ 815 SR BSogHalol B2YXS.

d) AURP(AUA RUe5§ 5lS SR B2oldd BogH2lot.

(9AFC)16 =( )2
e) 111111001011 1111
f) 111111011101 1011
g) 1001 10101111 1100
h) 1001 110111111101

(1100), = ( )gray code
a) 1101 b) 1111 c) 1011 d) 1010

- of Y3 olld 2
a)3sH AsAY AHRL
b)3ls et AN
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c)3ls AsAY AH3L

d) 3sH et AHRL

z) (42)10=( )16
a)AB D)2A )72 d)2B

a3) o{lal$l of Y3 ot w2
2)ollset3l S13S SLeAAH
b)oltssat3l S13s SRHA
c)olltetdl 5135 el

dyotsetl sl et

bb) 11000 / 1000 =
b) 10 b 01 ¢)11  d)0o

ol Ul ysll el sleuil AR Usll oll cllol A

Q-2 ol U8\ £35 UM oll sclledl W
A) ATt ol R Ao Al ®)
B)  slg s umemAl )
C) UBRA wa ARl Al®s UHAA (4)

Q-3 ol WS\ £35 UM oll sclled W
A) R EAU sAU Ao Al. )
B) ARs A®s e A A (7)

Q-4 ol WSl £35 YA oll sclled W
A) ek A2 A YRladd de uHeAl. )
B)  328R5ls2 uxnAl. 7

Q-5 oA Ul €35 YR oll el AU
A Q@A $A FAB+AB+AB=A’+B ®)
B)  F( A B,C)=AB+AB+AC+A’C’ of A 2c3u A<, ®)
C) 4 AU sAQu el 4)

Q-6 oA Ul €35 YR oll el AU
A 128 HAENAAR oAl (7)
B) ¥ Au ot GuAaL Al fAB,C=Y (24,5 HI of JsuY2let A (")
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Q-7

Q-8

A)
B)

B)
C

o(lA UGl €35 Ysll oll wallod WU

UR-2 AR S Sl/A; socleR AUXLA

ARud 8ot URAA wIBe Qg2 A2 UMM A
o(lA UGl €35 Ysll oll wallod WU

A Al Aol USSR WA AH%A

W /S| 50cl82 WA Aol RARUFFAA AHABLA

Bl s1GeR yHenAl.
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